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1. H(s)=n(s)/d(s) is BIBO stable iff
all true poles have negative real parts


.
2. x_dot=Ax+bu; y=Cx is A.S. iff 
all eigen values have negative real parts

.
3. If h(t) is the impulse response of a system, the system is BIBO stable iff 




integral from 0 to infinity of |h(t)| is finite

.
4. In general, A.S. 
implies
 BIBO stable, but not the other way around.
5. If there is no pole/zero cancelation, A.S. and BIBO stable are 
equivalent
.

6. a*s2 +b*s+c is A.S. if 
a, b, c are of same sign


.
7. a*s3 +b*s2+cs+d  is A.S. if 
a, b, c, d are of same sign and b*c >a*d
.
